Math 6 PAT Part A Sample Questions

What is 4 905 + 3 868?

Answer:

What is $1.50 + $2.45?

Answer: $

What is 27.6 — 12.3?

Answer:

What is 15 x 50?

Answer:

What is 316 = 4?

Answer:



Whatis 7+ 0.9 + 1.62?

Answer:

7. Whatis 70 365 — 63 5757
Answer:
8. Whatis 40.5 x 2?
Answer:
Use the following information to answer question 9.
9504 x 7=665__.8
9. In the equation above, which digit could be placed in the blank space to make
the equation correct?
Answer: 665 .8
10. Whatis 24.6 +2?

Answer:




11.

12.

13.

14.

15.

What is 3.27 + 3?

Answer:

What is 9.9 — 6.45?

Answer:

What is 7 - 4.09?

Answer:

What is 78.03 = 9?

Answer:

What is 58 x 727?

Answer:



